

## **Currency Futures & Options Matched Trades**

Report for 10/04/2012

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
8:13:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9141	791,410.00	Member	Buy
8:13:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9141	(791,410.00)	Client	Sell
8:22:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9495	794,950.00	Member	Buy
8:22:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9495	(794,950.00)	Client	Sell
8:35:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9190	79,190.00	Member	Buy
8:35:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9190	(79,190.00)	Client	Sell
8:45:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.9457	1,986,425.00	Member	Buy
8:45:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	7.9457	(1,986,425.00)	Client	Sell
8:45:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.9782	3,989,100.00	Member	Buy
8:45:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.9782	(3,989,100.00)	Client	Sell
8:45:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.9530	(7,953,000.00)	Member	Sell
8:45:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	7.9530	954,360.00	Client	Buy
8:46:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.9595	(238,785.00)	Member	Sell
8:46:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	7.9595	238,785.00	Client	Buy
8:51:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0545	4,027,250.00	Member	Buy
9:00:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.9720	(7,972,000.00)	Member	Sell
9:02:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0420	(804,200.00)	Member	Sell
9:02:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.9790	7,979,000.00	Client	Buy
9:11:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9555	795,550.00	Member	Buy
9:11:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9555	(795,550.00)	Client	Sell
9:11:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9555	39,777.50	Member	Buy
9:11:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9555	(39,777.50)	Client	Sell
9:11:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9555	23,866.50	Member	Buy
9:11:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9555	(23,866.50)	Client	Sell
9:11:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9555	795,550.00	Member	Buy
9:11:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	7.9555	(795,550.00)	Client	Sell
9:13:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	140	140,000	7.9530	1,113,420.00	Member	Buy
9:13:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	140	140,000	7.9530	(1,113,420.00)	Client	Sell
9:14:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9535	39,767.50	Member	Buy
9:14:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9535	(39,767.50)	Client	Sell
9:15:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9550	79,550.00	Member	Buy
9:15:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9550	(79,550.00)	Client	Sell

Page 1 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
9:24:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.9600	47,760.00	Client	Buy
9:24:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	7.9600	(47,760.00)	Client	Sell
9:24:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	33	33,000	7.9600	262,680.00	Member	Buy
9:24:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	33	33,000	7.9600	(262,680.00)	Client	Sell
9:25:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.9600	636,800.00	Member	Buy
9:25:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	7.9600	(636,800.00)	Client	Sell
9:33:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9667	(31,866.80)	Client	Sell
9:33:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	7.9667	31,866.80	Member	Buy
9:35:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9695	(15,939.00)	Client	Sell
9:35:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9695	15,939.00	Member	Buy
9:35:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9700	(15,940.00)	Client	Sell
9:35:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	7.9700	15,940.00	Member	Buy
9:35:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.9700	(1,594,000.00)	Client	Sell
9:35:51	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	7.9700	1,594,000.00	Member	Buy
9:39:08	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0752	(3,230,080.00)	Member	Sell
9:39:08	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0752	3,230,080.00	Member	Buy
9:39:15	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0752	(3,230,080.00)	Member	Sell
9:39:15	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0752	3,230,080.00	Member	Buy
9:39:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	501	501,000	7.9681	(3,992,018.10)	Member	Sell
9:39:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	501	501,000	7.9681	3,992,018.10	Member	Buy
9:48:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9650	(79,650.00)	Client	Sell
9:48:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9650	79,650.00	Client	Buy
10:02:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9650	(39,825.00)	Client	Sell
10:02:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	7.9650	39,825.00	Member	Buy
10:06:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	125	125,000	7.9675	995,937.50	Member	Buy
10:07:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.9700	199,250.00	Member	Buy
10:08:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9735	398,675.00	Member	Buy
10:08:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9745	(7,974.50)	Client	Sell
10:08:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9745	7,974.50	Member	Buy
10:00:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.9750	(119,625.00)	Client	Sell
10:00:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.9750	119,625.00	Member	Buy
10:10:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9802	79,802.00	Member	Buy
10:10:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	7.9802	(79,802.00)	Client	Sell
10:11:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.9850	(1,197,750.00)	Client	Sell
10:11:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	7.9850	1,197,750.00	Member	Buy
10:11:41	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0920	(80,920.00)	Client	Sell
10:13:01	\$ / R 17/09/2012 \$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0920	80,920.00	Member	Buy
	\$ / R 18/06/2012			0.00	1	1,000	1,000	1,000,000	7.9788		Member	
10:16:47 10:16:47	\$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	7.9788	7,978,800.00 (7,978,800.00)	Client	Buy Sell
10:18:28	\$ / R 18/06/2012			0.00		1,000	550	550,000	7.9885	4,393,675.00	Client	
	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future			1 1					, ,		Buy Sell
10:18:28	·	· ·		0.00		1,000	550	550,000	7.9885	(4,393,675.00)	Member	
10:28:30	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	90	90,000	7.9530	715,770.00	Client	Buy
10:28:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	7.9530	(954,360.00)		Sell
10:28:53	\$ / R 18/06/2012 \$ / B 17/00/2012	Foreign Exchange Future		0.00	1	1,000	910	910,000	7.9530	7,237,230.00	Client	Buy
10:35:13	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15 15	15,000	8.0976	121,464.00	Member	Buy
10:35:13	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.0976	(121,464.00)	Member	Sell

Page 2 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
10:35:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.9867	119,800.50	Member	Buy
10:35:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	7.9867	(119,800.50)	Client	Sell
10:35:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9900	7,990.00	Member	Buy
10:38:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.9877	199,692.50	Member	Buy
10:38:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.9877	(199,692.50)	Client	Sell
10:38:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9877	23,963.10	Member	Buy
10:38:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	7.9877	(23,963.10)	Client	Sell
10:42:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9865	7,986.50	Client	Buy
10:42:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9865	(7,986.50)	Member	Sell
10:53:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	33	33,000	7.9863	263,547.90	Member	Buy
10:53:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	33	33,000	7.9863	(263,547.90)	Client	Sell
10:57:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.9910	(3,995,500.00)	Client	Sell
10:57:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.9910	3,995,500.00	Member	Buy
10:57:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9950	(7,995.00)	Client	Sell
10:57:48	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9950	7,995.00	Member	Buy
10:59:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	7.9990	(959,880.00)	Client	Sell
10:59:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	7.9990	959,880.00	Member	Buy
10:59:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0000	(8,000.00)	Client	Sell
10:59:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0000	8,000.00	Member	Buy
10:59:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0000	(40,000.00)	Client	Sell
10:59:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0000	40,000.00	Member	Buy
11:00:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0038	4,001,900.00	Member	Buy
11:00:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0038	(4,001,900.00)	Client	Sell
11:00:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0038	4,001,900.00	Member	Buy
11:00:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0038	(4,001,900.00)	Client	Sell
11:03:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0052	80,052.00	Member	Buy
11:03:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0052	(80,052.00)		Sell
11:04:13	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1095	(121,642.50)	Client	Sell
11:04:13	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1095	121,642.50	Member	Buy
11:09:10	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1179	16,235.80	Member	Buy
11:09:10	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1179	(16,235.80)	Member	Sell
11:09:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0070	16,014.00	Member	Buy
11:09:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0070	(16,014.00)	Client	Sell
11:09:11	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.1179	64,943.20	Member	Buy
11:09:11	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.1179	(64,943.20)	Member	Sell
11:09:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.0070	64,056.00	Member	Buy
11:09:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.0070			Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	22	22,000	8.0024	176,052.80	Member	Buy
11:09:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	22	22,000	8.0024	(176,052.80)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0100	(8,010.00)		Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0100	8,010.00	Member	Buy
11:09:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0100	(1,602,000.00)	Client	Sell
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0100	1,602,000.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0100	(32,040.00)		Sell
11:10:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0100	32,040.00	Member	Buy
11:13:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	316	316,000	8.0211	(2,534,667.60)		Sell
	Q. 70 10/00/2012	r oroign Exonange r atale		5.00	•	1,000	010	3.0,000	3.0211	(2,00 +,007 .00)	····	0011

Page 3 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
11:13:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	316	316,000	8.0211	2,534,667.60	Client	Buy
11:14:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0042	4,002,100.00	Member	Buy
11:14:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0042	(4,002,100.00)	Client	Sell
11:14:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	14	14,000	8.0038	112,053.20	Member	Buy
11:14:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	14	14,000	8.0038	(112,053.20)	Client	Sell
11:19:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0100	801,000.00	Member	Buy
11:19:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0100	801,000.00	Member	Buy
11:19:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	8.0200	360,900.00	Client	Buy
11:26:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0100	2,002,500.00	Member	Buy
11:26:15	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0545	(4,027,250.00)		Sell
11:26:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0545	4,027,250.00	Member	Buy
11:26:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	7.9100	197,750.00	Member	Buy
11:26:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0000	(2,000,000.00)		Sell
11:30:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0545	(4,027,250.00)	Member	Sell
11:31:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0157	801,570.00	Member	Buy
11:31:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0157	(801,570.00)		Sell
11:31:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0157	801,570.00	Member	Buy
11:31:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0157	(801,570.00)	Client	Sell
11:31:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	364	364,000	8.0157	2,917,714.80	Member	Buy
11:31:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	534	534,000	8.0007	(4,272,373.80)	Client	Sell
11:35:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1158	162,316.00	Member	Buy
11:35:16	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1158	(162,316.00)		Sell
11:39:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.0200	(64,160.00)		Sell
11:39:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.0200	64,160.00	Member	Buy
11:39:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0200	(80,200.00)	Client	Sell
11:39:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0200	80,200.00	Member	Buy
11:39:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0240	(8,024.00)	Client	Sell
11:39:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0240	8,024.00	Member	Buy
11:40:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0200	1,604,000.00	Member	Buy
11:40:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0150	(40,075.00)	Client	Sell
11:40:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0150	40,075.00	Member	Buy
11:41:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.0250	(1,203,750.00)		Sell
11:41:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0250	(80,250.00)	Client	Sell
11:41:21	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	89	89,000	8.0250	(714,225.00)	Member	Sell
11:41:56	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0950	(202,375.00)		Sell
11:41:56	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0320	2,008,000.00	Client	
11:47:48	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	1,000	8.0320	(8,030.00)		Buy Sell
	•	· ·			1	,	•	•		,		
11:47:48 11:51:21	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00 0.00	1	1,000 1,000	1	1,000 21,000	8.0300 8.0280	8,030.00 168,588.00	Member Client	Buy
		· ·			· ·		21					Buy
11:51:21	\$ / R 18/06/2012 \$ / B 17/00/2012	Foreign Exchange Future		0.00	1	1,000	21	21,000	8.0280	(168,588.00)		Sell
11:54:51	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1249	81,249.00	Member	Buy
11:54:51	\$ / R 17/09/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1249	(81,249.00)		Sell
11:57:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250 75	250,000	8.0199	(2,004,975.00)		Sell
12:02:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	75 25	75,000	8.0007	(600,052.50)		Sell
12:06:46	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25 250	25,000	8.0909	(202,272.50)		Sell
12:06:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0270	2,006,750.00	Client	Buy

Page 4 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
12:07:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.0206	561,442.00	Member	Buy
12:07:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.0206	(561,442.00)	Client	Sell
12:13:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	818	818,000	8.0295	(6,568,131.00)	Member	Sell
12:13:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	818	818,000	8.0295	6,568,131.00	Client	Buy
12:21:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0290	(802,900.00)	Member	Sell
12:21:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0290	802,900.00	Client	Buy
12:39:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	8.0175	24,052,500.00	Member	Buy
12:39:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	8.0175	(24,052,500.00)	Client	Sell
12:46:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0225	401,125.00	Member	Buy
12:46:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0225	(401,125.00)	Client	Sell
12:52:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0200	(40,100.00)	Client	Sell
12:52:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0200	40,100.00	Member	Buy
13:04:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	73	73,000	8.0220	585,606.00	Member	Buy
13:04:16	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	73	73,000	8.0220	(585,606.00)	Client	Sell
13:07:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0185	280,647.50	Member	Buy
13:07:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0185	(280,647.50)	Client	Sell
13:17:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.0143	56,100.10	Member	Buy
13:17:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.0143	(56,100.10)	Client	Sell
13:29:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0192	160,384.00	Member	Buy
13:29:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0192	(160,384.00)	Client	Sell
13:51:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0245	(160,490.00)	Client	Sell
13:51:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0245	160,490.00	Member	Buy
13:57:11	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0210	4,010,500.00	Member	Buy
13:59:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9210	396,050.00	Member	Buy
13:59:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0110	(4,005,500.00)	Client	Sell
14:04:31	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1249	40,624.50	Client	Buy
14:04:31	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1249	(40,624.50)	Member	Sell
14:07:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0050	4,002,500.00	Member	Buy
14:08:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	7.9050	395,250.00	Member	Buy
14:08:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	7.9950	(3,997,500.00)	Client	Sell
14:10:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0115	801,150.00	Member	Buy
14:10:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0115	(801,150.00)	Client	Sell
14:13:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.0030	248,093.00	Member	Buy
14:14:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0035	40,017.50	Member	Buy
14:14:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0035	(40,017.50)	Client	Sell
14:14:59	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.1100	251,410.00	Member	Buy
14:15:48	\$ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2230	246,690.00	Member	Buy
14:19:11	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3410	250,230.00	Member	Buy
14:33:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0081	80,081.00	Member	Buy
14:33:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0081	(80,081.00)		Sell
14:40:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	7.9930	247,783.00	Member	Buy
14:40:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	7.9930	(247,783.00)	Client	Sell
14:50:11	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.1000	251,100.00	Member	Buy
14:50:11	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.1000	(251,100.00)		Sell
14:51:32		Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2130	246,390.00	Member	Buy
14:51:32		Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2130	(246,390.00)		Sell
11.01.02	φ. (C   η (Δ) ΕΟ (Ε	1 Stolight Exchange Future		3.00	•	1,300	00	30,000	0.2100	(2.10,000.00)	Juont	0011

Page 5 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
14:51:58	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3310	249,930.00	Member	Buy
14:51:58	\$ / R 18/03/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.3310	(249,930.00)	Client	Sell
14:55:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0100	(80,100.00)	Client	Sell
14:55:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0100	80,100.00	Member	Buy
15:05:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.0200	(64,160.00)	Client	Sell
15:05:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.0200	64,160.00	Member	Buy
15:05:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0200	(160,400.00)	Client	Sell
15:05:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0200	160,400.00	Member	Buy
15:10:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0240	(32,096.00)	Client	Sell
15:10:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0240	32,096.00	Member	Buy
15:10:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0241	(802,410.00)	Client	Sell
15:10:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0241	802,410.00	Member	Buy
15:15:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0300	(8,030.00)	Client	Sell
15:15:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0300	8,030.00	Client	Buy
15:15:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0300	(72,270.00)	Client	Sell
15:15:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0300	72,270.00	Member	Buy
15:17:01	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	650	650,000	8.1295	(5,284,175.00)	Member	Sell
15:18:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	320	320,000	8.0250	2,568,000.00	Member	Buy
15:18:06	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	320	320,000	8.0250	(2,568,000.00)	Client	Sell
15:18:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0350	(401,750.00)	Client	Sell
15:18:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0350	401,750.00	Member	Buy
15:19:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0399	(80,399.00)	Client	Sell
15:19:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0399	80,399.00	Member	Buy
15:19:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0400	(241,200.00)	Client	Sell
15:19:45	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0400	241,200.00	Member	Buy
15:20:48	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	65	65,000	8.2295	(534,917.50)	Member	Sell
15:20:48	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	650	650,000	8.1395	5,290,675.00	Client	Buy
15:23:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0425	(40,212.50)	Client	Sell
15:23:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0425	40,212.50	Member	Buy
15:23:47	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1500	(81,500.00)	Client	Sell
15:23:47	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1500	81,500.00	Member	Buy
15:23:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0444	(72,399.60)	Client	Sell
15:23:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0444	72,399.60	Member	Buy
15:24:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0500	(8,050.00)	Client	Sell
15:24:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0500	(32,200.00)	Client	Sell
15:24:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0500	(80,500.00)	Client	Sell
15:24:10	·	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0500	(161,000.00)	Client	Sell
15:24:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0500	281,750.00	Member	Buy
15:24:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0529	241,587.00	Member	Buy
15:24:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0530	(2,013,250.00)	Member	Sell
15:25:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0435	40,217.50	Member	Buy
15:25:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0515	(281,802.50)	Member	Sell
15:25:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0600	(8,060.00)		Sell
15:25:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0600	8,060.00	Client	Buy
15:26:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.0475	24,142.50	Member	Buy
15:26:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.0475	(24,142.50)		Sell
10.20.01	Q. 10 10/00/2012	1 Stolgh Exchange rature		3.00	•	1,000	J	0,000	0.0410	(27,172.00)	Juont	0011

Page 6 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
15:27:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1130	(202,825.00)	Member	Sell
15:27:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0590	2,014,750.00	Client	Buy
15:29:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0645	8,064.50	Client	Buy
15:29:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0700	(8,070.00)	Client	Sell
15:29:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.0450	(3,218,000.00)	Client	Sell
15:29:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0701	(8,070.10)	Client	Sell
15:30:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	80	80,000	8.0701	(645,608.00)	Client	Sell
15:31:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	267	267,000	8.0683	(2,154,236.10)	Member	Sell
15:31:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	550	550,000	8.0692	4,438,060.00	Client	Buy
15:32:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0750	(16,150.00)	Member	Sell
15:32:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0750	16,150.00	Client	Buy
15:35:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	64	64,000	8.0695	(516,448.00)	Member	Sell
15:35:47	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	64	64,000	8.0695	516,448.00	Client	Buy
15:36:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	23	23,000	8.0695	(185,598.50)	Member	Sell
15:36:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	23	23,000	8.0695	185,598.50	Client	Buy
15:37:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.0565	8,056,500.00	Member	Buy
15:37:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	880	880,000	8.0565	(7,089,720.00)	Client	Sell
15:40:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,475	1,475,000	8.0625	11,892,187.50	Member	Buy
15:44:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0700	(807,000.00)	Client	Sell
15:44:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0700	807,000.00	Member	Buy
15:45:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0720	(4,036,000.00)	Member	Sell
15:46:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1420	(407,100.00)	Member	Sell
15:46:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0790	4,039,500.00	Client	Buy
15:48:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	35	35,000	7.9625	278,687.50	Member	Buy
15:48:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	350	350,000	8.0525	(2,818,375.00)	Client	Sell
15:49:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	60	60,000	7.9625	477,750.00	Member	Buy
15:49:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	600	600,000	8.0525	(4,831,500.00)	Client	Sell
15:49:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.0750	(24,225.00)	Client	Sell
15:49:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.0750	24,225.00	Client	Buy
15:49:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0619	2,015,475.00	Member	Buy
15:49:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0619	(2,015,475.00)	Client	Sell
15:49:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	42	42,000	7.9625	334,425.00	Member	Buy
15:49:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	420	420,000	8.0525	(3,382,050.00)	Client	Sell
15:50:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	105	105,000	8.0525	845,512.50	Member	Buy
15:50:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	105	105,000	8.0525	(845,512.50)	Client	Sell
15:52:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	8.0750	(137,275.00)	Client	Sell
15:52:49	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	17	17,000	8.0750	137,275.00	Member	Buy
15:52:51	\$ / R 18/06/2012			0.00	1	1,000			8.0750			Sell
15:53:46	\$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000	100 5	100,000 5,000	8.0800	(807,500.00) (40,400.00)		Sell
15:54:04 15:54:33	\$ / R 18/06/2012 \$ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1 1	1,000	145 250	145,000 250,000	8.0816	(1,171,832.00) (2,022,000.00)	Member Member	Sell Sell
15:54:33		· ·		0.00		1,000			8.0880			
15:54:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0880	2,022,000.00	Client	Buy
15:55:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.0760	8,076,000.00	Member	Buy
15:55:00	\$ / R 18/06/2012 \$ / B 17/00/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0760	(807,600.00)		Sell
15:55:56	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1740	81,740.00	Member	Buy
15:55:56	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1740	(81,740.00)	Client	Sell

Page 7 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
15:57:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0845	(16,169.00)	Member	Sell
15:57:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0845	16,169.00	Client	Buy
15:58:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0700	403,500.00	Member	Buy
15:58:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0700	(403,500.00)	Client	Sell
16:00:50	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1805	3,272,200.00	Member	Buy
16:00:50	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1805	(3,272,200.00)	Client	Sell
16:00:50	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1803	818,030.00	Member	Buy
16:00:50	\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1803	(818,030.00)	Client	Sell
16:02:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0760	80,760.00	Client	Buy
16:02:53	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:02:55	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:02:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:02:58	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:02:59	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:02	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:04	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:07	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:10	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:12	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:13	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:15	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:17	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:20	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:22	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:23	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:24	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:25	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:27	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:28	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:29	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:30	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:31	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:32	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:37	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:38	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
10.00.00	Ç. 1010012012	1 Stolight Exchange Future		5.00	•	1,500	1	1,000	5.0700	5,57 5.50		Duj

Page 8 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:03:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:42	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0760	8,076.00	Member	Buy
16:03:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0760	(807,600.00)	Client	Sell
16:03:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0760	403,800.00	Member	Buy
16:04:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	8.1000	1,701,000.00	Member	Buy
16:04:18	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	210	210,000	8.1000	(1,701,000.00)	Client	Sell
16:04:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0464	(40,232.00)	Client	Sell
16:04:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0850	8,085.00	Member	Buy
16:06:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0950	(8,095.00)		Sell
16:06:01	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0950	8,095.00	Member	Buy
16:07:00	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	120	120,000	8.0565	(966,780.00)	Client	Sell
16:09:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0925	(809,250.00)		Sell
16:09:54	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0925	809,250.00	Member	Buy
16:10:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0960	1,619,200.00	Member	Buy
16:10:52	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0960	(1,619,200.00)		Sell
16:12:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1000	(8,100.00)	Client	Sell
16:12:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1000	8,100.00	Client	Buy
16:16:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0845	80,845.00	Member	Buy
16:16:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0845	(80,845.00)	Client	Sell
16:25:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0999	(40,499.50)	Client	Sell
16:25:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0999	40,499.50	Member	Buy
16:25:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	8.1000	(153,900.00)	Client	Sell
16:25:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	19,000	8.1000	153,900.00	Member	Buy
16:25:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1000	(162,000.00)	Client	Sell
16:25:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1000	162,000.00	Member	Buy
16:26:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.0760	(1,615,200.00)	Client	Sell
16:26:19	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	700	700,000	8.0760	(5,653,200.00)	Client	Sell
16:27:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0950	202,375.00	Member	Buy
16:27:05	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25 25	25,000	8.0950	(202,375.00)		Sell
16:31:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25 1	1,000	8.0850	8,085.00	Client	Buy
16:31:14	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	99	99,000	8.0854	800,454.60	Member	
16:31:29	\$ / R 18/06/2012 \$ / R 18/06/2012			0.00	1	1,000	100	100,000	8.0853		Client	Buy Sell
	\$ / R 18/06/2012	Foreign Exchange Future			1	1,000	100	100,000	7.9980	(808,530.00) 799,800.00		
16:35:03	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1						Member	Buy
16:35:03	·	Foreign Exchange Future		0.00	1	1,000	100 1	100,000	7.9980	(799,800.00)		Sell
16:35:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	19	1,000 19,000	8.0760	8,076.00	Member	Buy
16:35:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	•	1,000			8.0690	153,311.00	Member	Buy
16:35:08	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0693	(161,386.00)		Sell
16:36:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0690	201,725.00	Member	Buy
16:36:09	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0690	(201,725.00)		Sell
16:39:33	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0735	4,036,750.00	Member	Buy
16:41:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50 500	50,000	7.9735	398,675.00	Member	Buy
16:41:39	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0635	(4,031,750.00)		Sell
16:45:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	(8,080.00)		Sell
16:45:40	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	8,080.00	Member	Buy
16:45:42	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	(8,080.00)	Client	Sell

Page 9 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:45:42	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	8,080.00	Member	Buy
16:45:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	(8,080.00)	Client	Sell
16:45:43	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	8,080.00	Member	Buy
16:45:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	(8,080.00)	Client	Sell
16:45:44	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	8,080.00	Member	Buy
16:45:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	(8,080.00)	Client	Sell
16:45:46	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0800	8,080.00	Member	Buy
16:48:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0790	(8,079.00)	Client	Sell
16:48:34	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0790	8,079.00	Member	Buy
16:48:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0790	(72,711.00)	Client	Sell
16:48:35	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.0790	72,711.00	Member	Buy
16:48:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	27	27,000	8.0800	(218,160.00)	Client	Sell
16:48:36	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	27	27,000	8.0800	218,160.00	Member	Buy
16:48:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0842	(80,842.00)	Client	Sell
16:48:56	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.0842	80,842.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1040	2,026,000.00	Member	Buy
	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1040	(2,026,000.00)	Member	Sell
Total Futu	ires				209		27,685	27,684,500		222,290,258.15		
Total Opti	ons											
Total for \$	/ R Foreign Exchange F	- - - - -			209		27,685	27,684,500		222,290,258.15		
11:40:39	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0250	(802,500.00)	Client	Sell
11:40:39	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0250	802,500.00	Member	Buy
15:24:34	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0500	(805,000.00)	Client	Sell
15:24:34	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0500	805,000.00	Member	Buy
15:54:50	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0750	(807,500.00)	Client	Sell
15:54:50	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.0750	807,500.00	Member	Buy
16:25:43	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.1000	(810,000.00)	Client	Sell
16:25:43	\$ / R MAXI 18/06/2012	Foreign Exchange Future		0.00	1	100,000	1	100,000	8.1000	810,000.00	Member	Buy
Total Futu	ires				4		4	400,000		3,225,000.00		
Total Opti	ons											
Total for \$	/ R MAXI Foreign Excha	ange Future			4		4	400,000		3,225,000.00		
10:24:12	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9890	(324,725.00)	Member	Sell
10:24:12	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9890	324,725.00	Member	Buy
10:24:12	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6530	(316,325.00)		Sell
10:24:12	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6530	316,325.00	Member	Buy
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6530	316,325.00	Member	Buy
	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6530	(316,325.00)		Sell
	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9900		Member	Sell
	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9900	324,750.00	Member	Buy
	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9900	(324,750.00)	Member	Sell
	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9900	324,750.00	Member	Buy
. 5.2 1.00	~	r oroign Exonalige r utule		0.00	•	1,000	20	20,000	12.0000	024,700.00		Duy

Page 10 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of	Nominal Underlying	Quantity	Foreign	Traded		Trade	Buy/
Time					Trades	Value		Nominal	Price	in Rand	туре	Sell
10:24:36	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6521	(316,302.50)	Member	Sell
10:24:36	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6521	316,302.50	Member	Buy
10:25:28	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9940	(324,850.00)	Member	Sell
10:25:28	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9940	324,850.00	Member	Buy
10:25:28	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6561	(316,402.50)	Member	Sell
10:25:28	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6561	316,402.50	Member	Buy
10:25:29	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6565	316,412.50	Member	Buy
10:25:29	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6565	(316,412.50)	Member	Sell
10:25:29	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9944	324,860.00	Member	Buy
10:25:30	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9944	(324,860.00)	Member	Sell
10:25:43	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	(324,875.00)	Member	Sell
10:25:43	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	324,875.00	Member	Buy
10:25:44	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6585	(316,462.50)	Member	Sell
10:25:44	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6585	316,462.50	Member	Buy
10:25:45	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6590	316,475.00	Member	Buy
10:25:45	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6590	(316,475.00)	Member	Sell
10:25:45	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	(324,875.00)	Member	Sell
10:25:45	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	324,875.00	Member	Buy
10:25:47	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6595	316,487.50	Member	Buy
10:25:47	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6595	(316,487.50)	Member	Sell
10:25:47	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	(324,875.00)	Member	Sell
10:25:47	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	324,875.00	Member	Buy
10:25:49	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	(324,875.00)	Member	Sell
10:25:49	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9950	324,875.00	Member	Buy
10:25:49	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6581	(316,452.50)	Member	Sell
10:25:49	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6581	316,452.50	Member	Buy
10:25:50	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6595	316,487.50	Member	Buy
10:25:50	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.6595	(316,487.50)	Member	Sell
10:25:50	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9960	324,900.00	Member	Buy
10:25:50	£ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	12.9960	(324,900.00)	Member	Sell
11:53:06	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.6865	634,325.00	Member	Buy
11:53:06	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.6865	(634,325.00)	Client	Sell
12:48:57	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.6850	1,268,500.00	Member	Buy
13:09:48	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	12.6900	(101,520.00)	Client	Sell
13:09:48	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	12.6900	101,520.00	Member	Buy
14:39:08	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.7230	(127,230.00)	Client	Sell
14:39:08	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.7230	127,230.00)	Member	Buy
	£ / R 18/06/2012			0.00	1							Sell
15:03:20 15:03:20	£ / R 18/06/2012 £ / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000 1,000	30 30	30,000 30,000	12.7200 12.7200	(381,600.00) 381,600.00	Member	
					1							Buy
	£ / R 18/06/2012 £ / R 18/06/2012	Foreign Exchange Future		0.00	1 1	1,000 1,000	10 10	10,000 10,000	12.7450 12.7450	(127,450.00) 127,450.00	Client	Sell
		Foreign Exchange Future		0.00			10 25			•	Member	Buy
	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	25 25	25,000 25,000	12.9200	(323,000.00)	Client	Sell
15:23:19	£ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	25 20	25,000	12.9200	323,000.00	Member	Buy
16:04:01	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	12.8000	(384,000.00)		Sell
16:04:01	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	12.8000	384,000.00	Member	Buy
16:28:39	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.8200	256,400.00	Client	Buy

Page 11 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:28:39	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.8200	(256,400.00)	Member	Sell
16:33:46	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.7981	639,905.00	Member	Buy
16:33:46	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.7981	(639,905.00)	Client	Sell
16:35:33	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.6730	1,267,300.00	Member	Buy
16:35:33	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.6730	(1,267,300.00)	Client	Sell
16:39:44	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	12.7981	575,914.50	Client	Buy
16:39:44	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	45	45,000	12.7981	(575,914.50)	Member	Sell
Total Futu	ures				32		928	928,000		11,865,362.00		
Total Opt	ions											
Total for	E / R Foreign Exchange F	Future			32		928	928,000		11,865,362.00		
9:27:23	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.4200	(416,800.00)	Client	Sell
9:27:23	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.4200	416,800.00	Member	Buy
10:24:18	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7560	(268,900.00)	Member	Sell
10:24:18	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7560	268,900.00	Member	Buy
10:24:18	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4481	(261,202.50)	Member	Sell
10:24:18	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4481	261,202.50	Member	Buy
10:24:36	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7570	(268,925.00)	Member	Sell
10:24:36	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7570	268,925.00	Member	Buy
10:24:36	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4476	(261,190.00)	Member	Sell
10:24:36	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4476	261,190.00	Member	Buy
10:25:41	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4530	261,325.00	Member	Buy
10:25:41	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4530	(261,325.00)	Member	Sell
10:25:41	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7610	(269,025.00)	Member	Sell
10:25:41	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7610	269,025.00	Member	Buy
10:25:43	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7610	(269,025.00)	Member	Sell
10:25:43	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7610	269,025.00	Member	Buy
10:25:43	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4525	(261,312.50)	Member	Sell
10:25:43	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4525	261,312.50	Member	Buy
10:25:45	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4530	261,325.00	Member	Buy
10:25:45	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4530	(261,325.00)	Member	Sell
10:25:45	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7610	(269,025.00)	Member	Sell
10:25:45	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7610	269,025.00	Member	Buy
10:25:47	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4520	261,300.00	Member	Buy
10:25:47	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4520	(261,300.00)	Member	Sell
10:25:47	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7600	(269,000.00)	Member	Sell
	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7600	269,000.00		Buy
10:25:49	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4530	261,325.00	Member	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4530		Member	Sell
	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7619	269,047.50	Member	Buy
	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7619	(269,047.50)	Member	Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4520	261,300.00	Member	Buy
10:25:51	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4520	(261,300.00)	Member	Sell
	€ / R 14/12/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.7605	269,012.50	Member	Buy
	<del></del>			****	•	.,		-,		,		- ,

Page 12 of 13 2012/04/10, 06:08:04PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand		Buy/ Sell
10.05.51	C / D 44/40/0040	Fassing Fushages Future		0.00	1	4.000	25	25.000	10.7005	(200 042 50)	Manahan	Call
10:25:51 11:56:38	€ / R 14/12/2012 € / R 18/06/2012	Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000 1,000	25 25	25,000 25,000	10.7605 10.4885	(269,012.50) 262,212.50	Member Member	Sell
11:56:38	€ / R 18/06/2012 € / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25 25	25,000	10.4885	(262,212.50)	Client	Buy Sell
12:47:01	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4885	(262,212.50)	Client	Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4885	262,212.50	Member	Buy
13:53:09	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	361	361,000	10.6500	3,844,650.00	Member	Buy
15:17:01	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.6700	5,335,000.00	Member	Buy
15:17:01	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.6700	(5,335,000.00)	Client	Sell
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.5400	(263,500.00)	Client	Sell
15:19:43	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.5400	263,500.00	Member	Buy
	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.5465	316,395.00	Member	Buy
15:35:26	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.5465	(316,395.00)	Client	Sell
15:46:59	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5715	52,857.50	Member	Buy
15:46:59	€ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5715	(52,857.50)	Client	Sell
17:11:18	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	361	361,000	10.6400	3,841,040.00	Member	Buy
17:11:18	€ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	361	361,000	10.6400	(3,841,040.00)	Client	Sell
Total Fut	ures				25		1,592	1,591,500		16,914,582.50		
Total Opt	ions											
Total for € / R Foreign Exchange Future					25		1,592	1,591,500		16,914,582.50		
11:44:44	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	8.1900	90,090.00	Client	Buy
11:44:44	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	11	11,000	8.1900	(90,090.00)	Member	Sell
13:38:17	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1880	204,700.00	Member	Buy
13:39:08	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1200	203,000.00	Member	Buy
13:39:08	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1200	(203,000.00)	Client	Sell
15:23:16	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2150	1,643,000.00	Member	Buy
15:46:24	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2068	1,641,360.00	Member	Buy
15:46:24	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2068	(1,641,360.00)	Client	Sell
15:47:38	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2360	41,180.00	Member	Buy
15:47:38	AU\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2360	(41,180.00)	Client	Sell
Total Fut	ures				5		354	353,500		2,899,480.00		
Total Opt	ions											
Total for AU\$ / R Foreign Exchange Future					5		354	353,500		2,899,480.00		
Total Futures					274		30,562	30,957,500		257,194,682.65		
Total Opt	ions											
Grand Total for all Instruments					274		30,562	30,957,500		257,194,682.65		